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A Level Business Exemplar Candidate Work

Introduction

These exemplar answers have been chosen from the
summer 2019 examination series.

OCR is open to a wide variety of approaches and all
answers are considered on their merits. These exemplars,
therefore, should not be seen as the only way to answer
questions but they do illustrate how the mark scheme has
been applied.

Please always refer to the specification https.//www.ocr.
org.uk/Images/170837-specification-accredited-a-level-
gce-business-h431.pdf for full details of the assessment
for this qualification. These exemplar answers should

also be read in conjunction with the sample assessment
materials and the June 2019 Examiners'report or Report
to Centres available from Interchange https.//interchange.

ocrorg.uk.

The question paper, mark scheme and any resource
booklet(s) will be available on the OCR website from
summer 2020. Until then, they are available on OCR
Interchange (school exams officers will have a login for
this and are able to set up teachers with specific logins —
see the following link for further information https.//www.
ocr.org.uk/administration/support-and-tools/interchange/
managing-user-accounts/).

It is important to note that approaches to question
setting and marking will remain consistent. At the same
time OCR reviews all its qualifications annually and may
make small adjustments to improve the performance of
its assessments. We will let you know of any substantive
changes.

© OCR 2019
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A Level Business

Question 16

16 Go Race! is a small business.

Exemplar Candidate Work

Analyse one way being a small business might benefit Go Race!

Exemplar 1 6 marks
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Examiner commentary

This is a very well written answer. The candidate begins by identifying that communications between the owner (‘Ross’) and his staff
are likely to be clearer in a small firm. There is then appropriate use of the context (‘Ross employs three staff). The candidate explores
the idea that if Ross can communicate easier, he will know how to motivate his workers leading to the impact of better customer
service. This impact is further developed to include a longer-term benefit for Go Race!
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A Level Business Exemplar Candidate Work

Exemplar 2 3 marks
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Examiner commentary

The second exemplar also focuses on the benefit of better communications on motivation in a small business. However, this
answer is quite limited contextually — there is none in the first paragraph and it is only at the end of the second paragraph we
find a reference to the case study ('3 employees’). The candidate does provide a basic impact of this benefit on the 'improvement of
productivity, but further contextual application and development would be needed for this answer to move up to 5 or 6 marks.
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A Level Business Exemplar Candidate Work

Exemplar 3 (Low) 1T mark
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Examiner commentary

This is an example of an answer that has understood that the question is about small businesses but failed to acknowledge that
reference to the case study is required — the question states the benefits to Go Race! specifically. There is no use of the context in this
answer, and it offers only some simple ‘textbook knowledge’of the benefit of low costs. The candidate provides more evidence of
not applying their answer to Go Race! through the notion of smaller firms using less electricity — due to the nature of Go Race! and
what they offer this is very unlikely to be true. This answer gains one mark for a generic piece of knowledge (‘low running costs’).
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A Level Business Exemplar Candidate Work

Question 17

17 Refer to Table 1.

Analyse two reasons why it is important for Go Race! to offer customers a variety of different
prices.

Exemplar 1 9 marks
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A Level Business Exemplar Candidate Work

Examiner commentary

Better answers on this question identified the reasons for differing prices from the view of Go Race! and not that of the customer.
This question requires TWO different reasons why different prices are important with developed analysis to gain the full 9 marks
available. There were some very good answers to this question, and this is a typical exemplar.

This answer starts with identifying a reason for different prices is due to levels of demand during the day and this is contextualised
by mentioning Ross altering prices, so people are not left unable to race. The use of differentiated pricing to solve the issue of
unhappy customers provides an impact of Go Race! being able to be perceived as a better company and this is developed further to
link to the relative importance of this to Go Race! as a small firm.

The next reason provided (‘to appeal to as many customers as possible’) is clearly different from the first, and a very good approach

to a question explicitly asking for more than one reason. The candidate uses context well throughout. The offering of different
pricing strategies leading to an increase of sales and a further move towards his overall objective is a very logical developed piece of
analysis.

An answer of this standard is characterised by being contextual throughout along with two well-structured and developed pieces of
analysis about the importance of offering different prices for Go Racel!

Exemplar 2 6 marks
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A Level Business Exemplar Candidate Work
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Examiner commentary

This is an example of a mid-range answer — characterised by good knowledge, some context and basic analysis. More developed
analysis is needed to bring this answer up to 8 or 9 marks.

The two reasons why it is important to offer customers different prices are different (competitive advantage and marketing) and
both are in context (simulation, mention of group discount with data from case study). Both paragraphs provide a valid reason
why it is important to have different prices for Go Race! but this is very basic. The answer wold have benefited from some further
development of the impacts on Go Race! and further chains in the analysis.

Exemplar 3 4 marks
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A Level Business Exemplar Candidate Work

Examiner commentary

This answer provides knowledge of reasons for having different pricing (‘customers want different experiences' and ‘appeal to different
types of people’). The candidate does then use the context well to exemplify their points. However, they do not address WHY these
reasons are important for Go Race! and the impact of offering these different prices to customers.
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A Level Business Exemplar Candidate Work

Question 18

18* Evaluate the risks which may have been encountered by Go Race! in its first year of trading. [15]

Exemplar 1 15 marks
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A Level Business Exemplar Candidate Work

Examiner commentary

This question required candidates to evaluate the risks encountered by Go Racel in its first year of trading. Better answers understood
the difference between a risk, and general negative issues that occur. It must also be noted that, as can be seen from the mark
scheme, each of the three 15-mark questions contain 7 marks of evaluation (AO4). Therefore, answers need to contain a significant
amount of evaluation, on top of developed analysis, to score well.

The answer starts very well by considering the risk faced by competition (knowledge) from racing games played at home
(application), which means that Go Race! might have fewer racers than anticipated (analysis) which can lead to cash flow problems
(developed analysis). This double link’is something to look for in answers as it may be a sign of developed analysis.

A second risk (lack of capital) is identified and developed in a very similar way to the first paragraph — lack of capital (knowledge),
harder to promote the racing simulator (application), difficult to connect with racers (analysis) leading to lower sales revenue
(developed application).

What raises the level of this answer is the evaluation that is evident throughout. At the end of the first paragraph, the candidate
makes an assertion about the magnitude of the risk on Go Race! which is worthy of evaluation. At the end of the second paragraph,
the candidate again displays evaluative skills by assessing how much Go Race! will actually be affected by this risk.

At the end of the answer the candidate provides an all-encompassing conclusion on which is the greatest risk, which is then justified
using knowledge and clear contextual understanding. A really well-structured answer that is worthy of full marks.

Exemplar 2 7 marks
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Examiner commentary

This was a very typical answer that contained an understanding of risk but made no attempt at evaluation.

The first paragraph makes a good start as changing technology is a reasonable risk that Go Race! would have faced and the
candidate acknowledges this is especially relevant because of the type of experience Go Race! offers its customers. The paragraph
loses its way slightly in the mid-section but does make its way back to a piece of developed analysis at the end of the paragraph
(lack of finance in the first year to buy the best technology, could lead to financial problems).

The second paragraph provides a basic piece of contextual analysis within the first 5 lines (Ross has never run his own business before,
and this could lead to liquidation issues) but fails to further develop this any further.

This answer could have been improved if the candidate had provided some evaluation, as required in the stem of the question.
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Exemplar 3 3 marks
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Examiner commentary

This answer contains very limited use of the context and does not analyse. There is knowledge of risks faced by a firm in its first year
(choosing the right supplier and the owner not knowing what they were doing). There is an attempt at some use of the context towards
the end of the second paragraph.

This answer could have been improved by utilising more of the context and developing analysis.
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Question 19(b)

(b)* Evaluate how the method of depreciation used by Go Race! may affect its financial position.
[15]

Exemplar 1 11 marks
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Examiner commentary

This question on methods of depreciation was the lowest scored of the 15-mark questions on this paper in general and few very
good answers were seen. Even this answer, which scored 11 marks, does not use a great deal of terminology and concepts that
would be expected to be seen when discussing depreciation. Better answers for this question understood that the question was
asking about the method of depreciation used, rather than depreciation as a concept.

This exemplar provides a good definition at the start followed by the use of the answer they have calculated in 19a for the
depreciation figure for Go Race!, providing some use of the context. This figure also implies the straight-line method is being used,
although the terminology is not present. The candidate then goes on to explain the problem with using this method leading to
‘false hopes' of the assets value, affecting the financial position meaning that Ross may not be able to gain loans in the future, which
provides a good example of developed analysis. Towards the end of this paragraph, the candidate provides an assertion about how
the impact on the depreciation method on the financial position can be managed, providing evidence of evaluative skills.

The next paragraph discusses the simplicity of the method of depreciation used, and that is does not consider external factors (nb
- benefit of doubt being given here, as this is also the case with the reducing balance method). The candidate provides reference to
the age of the customers of Go Race! contextualising this section of the answer, before providing a positive and negative impact on
Go Race! of the depreciation, showing developed analysis.

The remainder of the answer is vague and non-contextual and would have benefited from reference back to the question and use of
the case study.
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Exemplar 2 7 marks
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Examiner commentary

This is a good example of a common answer that was seen — one good paragraph with developed analysis, but no evaluation.

This second exemplar starts well. They begin with some understanding of depreciation and apply this to the value of the assets
(simulators) in context. The answer then goes on to explain the impact this has on how the company is viewed financially (we can
assume they are discussing the statement of financial position here) and the impact on its financial position, and its impact on future
financial decisions showing developed analysis.

Unfortunately, the rest of the answer provides little more than non-contextualised knowledge about depreciation.

This answer would have benefitted from further use of the context and analysis. If the final paragraph was more focused and
contained reference to the case study, it may lead to some evaluation.

Exemplar 3 0 marks
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Examiner commentary

This answer was characteristic of those that did not show evidence of understanding methods of depreciation or depreciation as an
accounting concept and confused this with assets just being worth less over time.

This answer focuses on Go Race! not updating their simulators as they grow old. There is no creditable understanding or reference to
the concepts in the question (depreciation methods or financial position) in this answer.

21 © OCR 2019




Question 20(b)

(b)* Evaluate whether Ross should try to achieve his growth objective by franchising the business

Exemplar Candidate Work

in the future. (Lines 64—68) [15]
Exemplar 1 15 marks
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Examiner commentary

Candidates coped well with this question, and it was generally the better answered of the 15-mark questions on this paper. This is
one of the best answers seen to this question. The candidate immediately identifies that Ross will have access to a larger customer
base, and as a result the franchisee will bring in sales revenue, some of which will be paid to Ross in royalty payments helping him
meet his objective. The paragraph is contextual throughout and contains developed analysis. Towards the end of the paragraph,
there is some clear evaluation shown about the relative likelihood of this happening and a judgement of the factor in context.

The next paragraph follows a similar style, exploring the impact that franchising would have on the what the company is able to
offer its customers and how this can be used to meet the growth objective, again with evaluation towards the end of the paragraph.

The final paragraph is an excellent piece of developed evaluation which provides an overall judgement that is justified. There is a
real appreciation of the strategic issues faced by a new firm looking to franchise (risk, being relatively unknown) and ultimately how
viable this option is for Ross. This is a well-structured answer that clearly addresses the question and clearly contextual throughout.

Exemplar 2 6 marks
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Examiner commentary

The first two paragraphs provide some knowledge of franchising but no reference to the context of Go Racel. The answer then
makes mention of the franchise affecting the reviews on trip advisor, which is a reference to the case study data, providing context,
and then discusses the impact this may have on the sales of Go Race! and ultimately profit (which is how Ross is measuring his
growth objective) thus providing some basic evaluation.

The rest of the answer is not answering the question. The candidate enters a discussion over the ownership structure of Go Race!
and starts to veer away from the question. The very last sentence does provide an unsupported assertion about an issue Ross my
face with using franchising and is evidence of the minimum expectation for evaluation.

This answer would have been improved if the candidate focused on the use of franchising for growth and developed their analysis
further.

Exemplar 3 3 marks
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Examiner commentary

This type of answer was typical where students had not appreciated the use of franchising to achieve a future growth objective. The
candidate starts with some understanding that Ross will be offering a ‘turn key service' but other than that, the rest of the answer just
provides knowledge about what franchising is with no mention of how it can specifically be used to achieve the growth objective of

Go Racel.
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